RAEILRR




HGE )RRy A R E
% E—. R, )IRRE, TR I My

5 e
LY B S PSR, 2% R TS,

I
i JE D ]
# WE—. FERE, BOENRE x
_E:‘TE - \%
HEETRIHR.EERATHELE
-.-r:tt-| |"'-ﬂ‘
o a3 WEATA EERTRAL A
o] 4 b F (B o ek I
INIRIRRERREIRERERE
ISR RNRARE AR
5 & o= I ]
TEEFR YRR
i el el Bl el il
-- ° oA
ki
# ME=. M)AREESERE, T ERE
MRS
(LB, BT
AR
W |
e D
# (EDD. P o
FERERET

2 D
ﬁﬁ’_ﬂﬁﬁ EIE;;




& 1t J) R Kk J] B & B & B

PS
A

HEEEEETE S P N YA

SERSGEE —. J

H

ﬁ%ﬁ?%ﬂﬁ%%°J

\ KALRCE

e J

ﬁ%%z%ﬁﬁ%%°J

i
o=
cu
o

é BN > SEER - J

EEEa| | DL  BHTE  BRIRAGET - |




/ ™
SC | ssmeEpt i K ‘
SC /% ‘(m |
c sE5ET71E
i S
L)
SCK5 o |
SCKa (HETAIREL)
SCK3 e 7]
7z | mwmEe (LR
SCK2 | SR
SCK1 (HETAIRL) ¥
sHETINgREL P
= 7 TR TR ERK TR RS HoAth,
v E \ 4 \ 4 \ 4
SCK1 | — = 20 | — | 180 A

WAL SEIRTIEER S, A AR TE

SCK1-E20-180

H4



LY Al T R T gt o

R TE|

KFL

Stock| %458 Model No A TI D L Hﬁm
. ' SCK NO 4 S 5% Wrench
SR OCrew renc
[ ) SCK1-Y20-180L SCK1 20 180 SETM5x8L P2.5
o SCK2-Y25-175L SCK2 25 175 SETM6x8L P3.0
[ ) SCK2-Y25-225L 25 225 SETM6x8L P3.0
) SCK3-Y32-170L 32 170 | SETM6x10L P3.0
) SCK3-Y32-220L SCK3 32 220 | SETM6x10L P3.0
) SCK3-Y32-270L 32 270 | SETM6x10L P3.0
) SCK4-Y40-267L SCK4 40 267 | SETM8x16L P4.0
) SCK5-Y50-290L SCK5 50 290 | SETM10x16L P5.0
) SCK1-720-180L SCK1 20 180 SETM5x8L P2.5
° SCK2-725-175L SCK2 25 175 SETM6x8L P3.0
H 4 /f/ké%/\ > 1;El Modular Chang Carbide
Z y *jEé:\‘E. Wiy fﬁmjj T Steel Boring Bars
Stock| %458 Model No HETIR D L Hﬁm
. ' SCK NO A S 5 Wrench
RV, crew renc
° SCK1-E20-180L 20 180 SETM5x8L P2.5
° SCK1-E20-230L SCKI 20 230 SETM5x8L P2.5
o SCK2-E25-175L SCK2 25 175 SETMox8L P3.0
® SCK2-E25-225L 25 225 SETMox8L P3.0
® SCK3-E32-170L 32 170 | SETM6x10L P3.0
® SCK3-E32-220L SCK3 32 220 | SETMox10L P3.0
® SCK3-E32-270L 32 270 | SETMox10L P3.0
@) SCK4-E40-267L SCK4 40 2067 | SETM8x16L P4.0
@) SCK5-E50-300L SCK5 50 300 | SETM10x16L P5.0

o JHiff o ARARYEHEAF GERERE A B )
H5



)

C R 2
EiPagay
M et £ 5% S:90° FUF5 I
EiPagay W:80° [ 6
P52 V)7
Eipapse C80° #E
SCK5 S:iE4%Ee J70° ZEF
SCK4 &= T:60° =&
S G| e,
SCK3 Wi LRI ER D:55° e
SCK2 A BT Viss ER RATT) SR
SCK1 GRS N I— RoE7 Lo -
“H& ISR JIHEME Ji=k TR AR St
A
lJ \ 4 \ 4 \ 4 J l
SCK1 SI200sS || T|LIIC|IIR 0917716 A
A
: | MR
T B o, NI TAS
HEf BITIR gyer |
F K L P
; (®)[S
o psh— " e — LT
< 9 “—
“— -
p o =
Q S U B:5° IFf g -
107.5° ° C:7° 1F
| &~ 2y A —| A ] £57
— |45 o <+<— | | D157 IEfA (=
y y E:20° IFF L T
N:0 &
0 q . °
8s° 110° @(95) P:11° IEFA
=Y Y




1V RN

1 JJ 55

Modular Internal
Head With Coolant

SSSC

O

BOMIEA g

/) my | O
Stock #I%E Model No. mT F D L S
" A@ LB AR wF | Insert
Screw Wrench
® | SCKI-A20-SSSCR09-26 | 26 |13.5| 20 | 22 | 3.5
O | SCK2-A25-SSSCR09-31 | 31 | 16 | 25 | 27 | 3.5 |M4x8.8x5.4| T15 |SCO9T3
O | SCK3-A32-SSSCR09-40 | 40 [19.5| 32 | 30 | 3.5
@ H{F In Stock  o:JFAEMERE(F (FE S A & HH) Non-standard Stock
SCKC B MIBA
L
e yAas
Stock U 5E Model No. T F D L
9 HA@ HR 4R t"F | Insert
Screw Wrench
) SCKO—-A16—-SCKCR09-20 20 9 16 22
° SCK1-A20-SCKCR09—-24 24 11.5 1 20 22
M4x8. 8x5. 4 T15 | CCO9T3
) SCK2-A25-SCKCR09-30 30 15 25 25
o SCK3-A32-SCKCR09-38 38 17.5 1 32 30
@ /E1F InStock o FFFEAEELFE (G MEEREAC & HA) Non-standard Stock

H7




LY kil s

H

RN

jjn

= Modular Internal
Head With Coolant

25N

SCLC

BOMIEA

B/ (o "
Stock 7158 Model No. Il F D L iRk WF Iz:sj:ert
A Screw Wrench
o SCKO0-A16-SCLCR09-18 18 9 16 22
o SCK1-A20-SCLCR09-22 22 11 20 22
o SCK1-A20-SCLCR09-24 24 13 20 22
o SCK2-A25-SCLCR09-28 28 14.5 | 25 25 | M4x10. 6x5. 6 T15 CCO09T3
° SCK3-A32-SCLCR09-38 38 17.5 | 32 30
° SCK4-A40-SCLCR09-43 43 21 40 33
° SCK5-A50-SCLCR09-60 60 30 50 35
@ /FE 1T InStock o JFFEREEF(FEMERL L & HH) Non-standard Stock

H8




1V RN

25N

= Modular Internal

5 7] 8

Head With Coolant

SCLP

BOMIBA

B/ (K((K(K(@ n
Stock 1% Model No. mIf&E| F D L B4 BE IzZert
A Screw Wrench
O SCKO-A16—SCLPR09-18 18 9 16 22
° SCK1-A20-SCLPR09-22 22 11 20 22
o | SCK2A25-SCLPR09-28 | 28 | 14 | 25 | 25 | oS4 | Tlo ) CROSOS
0 SCK3—-A32-SCLPR09-35 35 17.5 | 32 24
@577 InStock o JFFEEAEEAF GEMETY S B 1) Non-standard Stock

H9




AR TR

jjn

= Modular Internal
Head With Coolant

N

STFC

B/ THEA

0 - TR
Stock 58 Model No. ﬁniﬁ@ F D L i E | Insert
Screw Wrench
o SCKO-A16-STFCR11-18 18 9.5 16 22
® SCK1-A20-STFCR11-22 22 11 20 22 M2. 5x6. 0x3. 6 T8 TC1102
) SCK2-A25-STFCR11-28 28 14 25 25
[ SCK1-A20-STFCR16T3-22 22 11.5 1 20 22
O SCK2-A25-STFCR16T3-28 28 14 25 27
° SCK3-A32-STFCR16T3-35 35 17.5 ] 32 30 M4x8. 8xh. 4 T15 | TC16T3
° SCK4-A40-STFCR16T3-43 43 21.5 ] 40 33
O SCK5-A50-STFCR16T3-53 53 27 50 35
@ E1F InStock o FFFEAEE{F(GEMEREAC & HA) Non-standard Stock

H10




1V RN

5 7] 8

= Modular Internal
Head With Coolant

25N

STUC

B MITEA

) - TR
Stock 58 Model No. jJ[]:lIA:@ F D L i HE | Insert
Screw Wrench

O SCKO-A16-STUCR11-18 18 9 16 22

° SCK1-A20-STUCR11-22 22 11 20 22 [M2.5x6.0x3.6[ T8 TC1102

° SCK2-A25-STUCR11-28 28 14 25 25

o SCK1-A20-STUCR16T3-22 22 11 20 22

® | SCK2-A25-STUCR16T3-28 28 14 25 27

® | SCK3-A32-STUCR16T3-38 38 17.5] 32 30 | M4x8.8x5.4 T15 TC16T3

O | SCK4-A40-STUCR16T3-50 50 21.51 40 33

O | SCK5-A50-STUCR16T3-60 60 26.5] 50 35

®:FE{¥ In Stock o FEfEEEFGERESL A & HA) Non-standard Stock

Hi1l




AR AT

25N

= Modular Internal

_‘)'n

Head With Coolant

STUP

) = TIH
Stock 782 Model No. jJ[]:‘IA‘:@ F D L - HE | Insert
Screw Wrench
® | SCK1-A20-STUPR11-22 22 11.5 | 20 22
® | SCK2-A25-STUPR11-30 30 15 25 25 M3x7. 8x4. 1 T9 TP1103
® | SCK3-A32-STUPR11-36 36 18.5 | 32 30
® [ SCK1-A20-STUPR1603-25 25 13 20 | 25.56
® [ SCK2-A25-STUPR1603-28 28 14 25 27
® [ SCK3-A32-STUPR1603-38 38 17.5 1 32 30 M4x8. 8xb. 4 T15 TP1603
O | SCK4-A40-STUPR1603-43 43 21.5 | 40 33
O | SCK5—A50-STUPR1603-60 60 26.5 | 50 35
® [ SCK1-A20-STUPR16T3-25 25 13 20 | 25.5
® [ SCK2-A25-STUPR16T3-28 28 14 25 27
O | SCK3-A32-STUPR16T3-35 38 17.5 1 32 30 M4x8. 8-5. 4 T15 TP16T3
O | SCK4-A40-STUPR16T3-50 50 21.5 | 40 33
O | SCK5—A50-STUPR16T3-53 53 27 50 35
® | SCK1-A20-STUPR1604-25 25 13 20 | 25.5
® | SCK2-A25—-STUPR1604—-28 28 14 25 27
® | SCK3-A32-STUPR1604—-38 38 17.5 | 32 30 M4x8. 8xb. 6 T15 TP1604
® | SCK4-A40-STUPR1604-43 43 21.5 | 40 33
O | SCK5—A50-STUPR1604-60 60 26.5 ] 50 35

®:[E57% In Stock

H12

o IFIEAEEE{E (FE 2 & HA) Non-standard Stock




AR TR

25N

= Modular Internal

jjn

Head With Coolant

SDFC

B/ T A

) = TIH
Stock %8 Model No. ﬂﬂiﬁ@ F D L S 4 RE | Insert
Screw Wrench
° SCK1-A20-SDFCR11-24 25 13 20 22 3
° SCK2-A25-SDFCR11-32 32 17 25 27 3
M4x8. 8xb. 4 T15 | DCI1T3

° SCK3-A32-SDFCR11-36 36 18 32 27 2

° SCK4-A40-SDFCR11-44 44 22.5] 40 27 | 2.5

®:FE{F In Stock o FJEEEAEE{F(GEESEAC & HH) Non-standard Stock

SDNC

%E

BT A

ot g TIH
Stock % 5%€ Model No. )J[]:‘IA‘:ﬁ F D L S 15 WF | Insert
Screw Wrench
° SCK1-A20-SDNCR11-27 27 16 20 22 6
O SCK2-A25—-SDNCR11-32 32 18 25 27 | 5.5 | M4x8.8xb.4 T15 | DCIIT3
° SCK3—-A32-SDNCR11-38 38 20.5| 32 30 | 4.5
®:JE 7T In Stock o IFFEEREEF(FEMERL L &) Non-standard Stock

H13




7V sl s

jjn

= Modular Internal
Head With Coolant

N

SDQC

i) = TR
Stock 58 Model No. ﬂﬂiﬁ@ F D L S - HE | Insert
Screw Wrench

o SCK1-A20-SDQCR11-25 25 13 20 | 22 3

° SCK2-A25-SDQCR11-32 32 17 25 27 3

° SCK3-A32-SDQCR11-40 40 20 32 30 4 | M4x8. 8x5.4 T15 DC11T3

° SCK4-A40-SDQCR11-46 46 25 40 33 5

° SCK5-A50-SDQCR11-56 56 30 50 35 5

@ FE(F In Stock o FFEEE{F(GEMEZIAC & HA) Non-standard Stock

H14




7V sl s

jjn

= Modular Internal

>N Head With Coolant
SDUC

0 = TR

Stock 58 Model No. ﬁniﬁ@ F D L S 4 RE | Insert
Screw Wrench

e | SCKI-A20-SDUCRO7-25 | 25 | 13 | 20 | 22 | 3 |M2.5x6.0x3.6] T8 |DCO702
e | SCKI-A20-SDUCR11-23 | 23 |12.5] 20 | 22 | 2.5
e | SCKI-A20-SDUCR11-25 | 25 | 13 | 20 | 22 | 3
® | SCK2-A25-SDUCRI1-32 | 32 | 17 | 25 | 25 | 4.5
o | SCK3-A32-SDUCR11=37 | 37 | 20 | 32 | 30 | a | o8& 4 1 Mo DO
e | SCK4-A40-SDUCR11-46 | 46 | 25 | 40 | 33 | 5
e | SCK5-A50-SDUCR11-56 | 56 | 30 | 50 | 35 | 5
®:FE{F In Stock  o:FJEEEAEE{F(GEESEAC & HH) Non-standard Stock

H15




LY R N g Mo e

SDZC . 20 DR

5

B/ (@ o
Stock #1538 Model No. MIE| F D L | L1 S
A

yAas
PR 4% ®RF | Insert

Screw Wrench

SCK1-A20-SDZCR11-26 26 15.5] 20 | 29 | 18 | 5.5

SCK1-A20-SDZCR11-28 28 17 20 | 29 | 18 | 7.0

M4x8.8x5.4 | T15 | DC11T3
SCK2-A25-SDZCR11-33 33 18 25 | 34 | 18 | 5.5

SCK3-A32-SDZCR11-40 | 40 21.5| 32 | 35 | 18 | 5.5

JEETF In Stock o FAEAEEELF (A HERS A & HH) Non-standard Stock

H16




AR TR

jjn

= Modular Internal
25N Head With Coolant

SVJB

B MITEA

b my T L
Stock #1358 Model No. T F D L S
% A & LB AR wF | Insert
Screw Wrench
° SCK1-A20-SVJBR11-22 22 11 20 29 1
M2. 5x6. 0x3. 6 T8 VB1103
° SCK2-A25-SVJBR11-28 28 14 25 32 1.5
° SCK3-A32-SVJBR16-35 35 17.5 | 32 42 1.5
M3. bx12. 0x5. 4 T15 VB1604
° SCK4-A40-SVJBR16-43 43 22 40 42 2
®:FE(F InStock o FJFEEEEFGEREZIAS &HHA) Non-standard Stock

H17




Z y *ﬁ%ﬂ{% Ij(J /E,T%Eijj LEL/\ Modular Internal

Head With Coolant

SVQB

I i TR
w -1,’:)”
A 74
/A —
Stock %8 Model No. T F|D L S £
% & H‘ BB &R tRF | Insert
A Shim
Screw Wrench
() SCK1-A20-SVQBR11-25 25 14 | 20 | 25.5 4 -
M2. 5x6. 0x3. 6 T8 VB1103
o) SCK2-A25-SVQBR11-32 32 18 | 25 27 5.5 -
o) SCK1-A20-SVQBR16-25 25 14 | 20 | 25.5 4 -
o) SCK2-A25-SVQBR16-32 32 18 | 25 27 5.5 - M3. 5x12. 0x5. 4
) SCK3-A32-SVQBR16-37 37 20 | 32 32 4 - T15 VB1604
) SCK4-A40-SVQBR16-47 47 26 | 40 42 6
VSS322 | M3. 5x11. 4x5.7
) SCK5-A32-SVQBR16-58 58 32 | 50 45 7

@®:FE17F In Stock

H18

O FEIEAEEEF (GEMERE RS & HA) Non-standard Stock




LY kil s

RN

jjn

25N Head With Coolant

= Modular Internal

SVUB T b mﬁ%g
I (&)
T q'§ @
g ;
i 1
o o m T o,
Stock %L Model No. T F|D]|L S E2.!
% & H‘ LB AR WF | Insert
A Shim
Screw Wrench

o SCK1-A20-SVUBR11-27 27 15 1 20 | 22 5 - M2. 5x6. 0x3. 6 T8 VB1103

° SCK1-A20-SVUBR16-31 31 19 | 20 | 27 9 -

o SCK2-A25-SVUBR16-33 33 18 | 25 | 27 | 5.5 - M3. 5x12. 0xb. 4

o SCK3-A32-SVUBR16—40 40 22 | 32 | 30 6 -

° SCK3-A32-SVUBR16—-40 40 23 | 32 | 30 7 T15 | VB1604

o SCK4-A40-SVUBR16-48 48 27 | 40 | 35

VSS322 | M3.5x11. 4x5.7
o SCK4-A40-SVUBR16-51 51 30 | 40 | 35 10
o SCK5-A50-SVUBR16-58 58 32 | 50 | 42 7
®:FE{F InStock o FJFEAEEIF(GEREZIAZ & HA) Non-standard Stock

H19




LY R N g Mo e

SVXB

BT EA

B2/ @KMK@ -~ o IR
Stock R{5% Model No. m:‘f@ F1D|L]|S PR 44 H’F | Insert
Screw Wrench

° SCK3-A32-SVXBR16-35 35 18 (3235 2
° SCK4-A40-SVXBR16-43 43 25140136 | 5 M3. 5x12. 0x5. 4 T15 VB1604
o SCK5—A50-SVXBR16-53 53 27150 | 45| 2
®:FE{F In Stock  o:FJFEEAEE{F(GEES A & HH) Non-standard Stock

SVZB S/ MMITEA

R

%/J\ «M@ _E_ 7:”}{
Stock|  ZY5% Model No. 11[1:11\:@ F1D|L Ll S B 44 B®F | Insert
Screw Wrench

SCK1-A20-SVZBR11-25 25 1412025 |12 | 4 M2. 5x6. 0x3. 6 T8 VB1103

SCK1-A20-SVZBR16-29 29 18 120 | 31 | 20

SCK2-A25-SVZBR16-35 35 21 125|136 |20 |8.5| M3.5x12.0x5.4 T15 | VB1604

[ ]
@]
@]
@]

SCK3-A32-SVZBR16-42 42 23 132 (41 19| 7

@ FE{F In Stock o FJFfEAEEIF(GERESIAZ & HA) Non-standard Stock

H20



1V BN

1 JJ 55

Modular Internal
Head With Coolant

SVJC

BT EA

H21

i) i TIH
%8 Model No. jJ[]:‘IA‘:@ F D L i HE | Insert
Screw Wrench

o SCK1-A20-SVJCR11-22 22 11 20 29 M2. 5x6. 0x3. 6 T8 VC1103
° SCK1-A20-SVJCR16-23 23 11.5 | 20 33
o SCK2-A25-SVJCR16-28 28 14 25 35 M3. 5x12. 0x5. 4 T15 VC1604
o SCK3-A32-SVJCR16-35 3b 17.5 | 32 39
®:FE{F In Stock  o:FJFEEAEE{F(GE YA & HH) Non-standard Stock




AR TR

jjn

= Modular Internal
25N Head With Coolant

SVQC

/48

BT EA

TR E

Stock #1358 Model No. WI F | D L S £y
. PR 4% ]’RFE  Insert
A Shim
Screw Wrench
) SCK1-A20-SVQCR11-25 25 14 | 20 | 25.5 4 -
M2. 5x6. 0x3. 6 T8 VC1103
) SCK2-A25-SVQCR11-32 32 18 | 25 27 5.5 -
@) SCK1-A20-SVQCR16-25 25 14 | 20 | 25.5 4 -
) SCK2-A25-SVQCR16-32 32 18 | 25 27 5.5 - M3. 5x12. 0xb. 4
) SCK3-A32-SVQCR16-37 37 20 | 32 32 4 - T15 | VC1604
) SCK4-A40-SVQCR16-47 47 26 | 40 42 6
VSS322 | M3. 5x11.4x5.7
) SCK5-A32-SVQCR16-58 58 32 | 50 45 7
®:FE{F InStock o FJFEAEEIF(GEREZIAZ & HA) Non-standard Stock

H22




H

LY kil s

RN

jjn

= Modular Internal
25N Head With Coolant

SVUC

A

B/ TEA

H23

138 Model No. T F|D]|L S E2.!
% & H‘ 1844 Clamp t"F | Insert
A Shim
Screw Wrench
SCK1-A20-SVUCR11-27 27 15 | 20 | 22 5 -
M2. 5x6. 0x3. 6 T8 VC1103
SCK2-A25-SVUCR11-31 | 31 17 1 25 |25 |4.5 -
SCK1-A20-SVUCR16-31 | 31 19 |20 |27 | 9 -
SCK2-A25-SVUCR16-33 | 33 18 | 25 | 27 | 5.5 -
SCK2-A25-SVUCR16-35 | 35 20 | 20| 27 | 7.5 - M3. 5x12. 0x5. 4
T15 | VC1604
SCK3-A32-SVUCR16-40 | 40 22 132130 6 -
SCK4-A40-SVUCR16-48 | 48 27 140 | 33| 7 -
SCK5-A50-SVUCR16-58 | 58 32 | 50 | 42 | 7 |VSS322 | M3.5x11.4x5.7
JEE{F In Stock  o:FFfEAEE(F(GERESIAS &HH) Non-standard Stock




1V RN

1R

Modular Internal
Head With Coolant

SVZC

R

B/ MIEA

Stock #1358 Model No. Il F D|L |L1|S | &K
: BEAR "F | Insert
A Shim
Screw Wrench
[ ] SCK2-A25-SVZCR16-34 34 19.5 125136 20| 7 - M3. 5x11. 4x5. 7
° SCK3-A32-SVZCR16-40 40 23 32141119 | 7
T15 VC1604
] SCK4-A40-SVZCR16-48 48 27 40 | 40 | 20 | 7 | VSS322 | M3.5x12.0x5.4
° SCK5-A50-SVZCR16-58 58 32 50 | 45 | 22 | 7
o /F1F InStock o FEFFAEEAF (FEMERY A /) Non-standard Stock

H24




LY kil s

RN

jjn

= Modular Internal
25N Head With Coolant

SVXC

BT EA

H25

B/ (K(K((K[@ n
7158 Model No. IITfZ| F D L S iRk WF Iizert
A Screw Wrench
® | SCK1-A20-SVXCR11-22 | 22 11 ]2 | 28| 1
O | SCK2-A25-SVXCR11-28 | 28 14 | 25 | 29 | 1.5
O | SCK3-A32-SVXCR11-34 | 34 17 | 32 ] 29 | 1 | M2.5x6.0x3.6 T8 VC1103
O | SCK4-A40-SVXCR11-42 | 42 | 21 | 40 | 29 | 1
O | SCK5-A50-SVXCR11-52 | 52 | 26 | 50 | 29 | 1
® | SCK2-A25-SVXCR16-28 | 28 14 | 25 | 35 | 1.5
O | SCK3-A32-SVXCR16-35 | 35 18 | 32 | 35 | 2
® | SCK4-A40-SVXCR16-43 | 43 22 | 40 | 35 | 2 3. oxl12. 0x5.4 1 TI5 ) VE1604
O | SCK5-A50-SXVCR16-52 | 52 | 26 | 50 | 35 | 1
@ EE{F In Stock  o:JEFEEEE{F(GE Y AC & HA) Non-standard Stock




LY R N g Mo e

MCKN

BAMIGA ARnR

L\ [
o o
’\‘9/
f |
: }
|]||:[:|:ﬂ (T
/b 0> o] | #PH | T
Stock|  #%E Model No. [|WIILAX| F | D [ L | S B4k | BIR | B4
oc 2 Model No 7L gt ‘ R
A . Shim Clamp |Clamp
Shim Wrench

Screw Screw

SCK3-A32-MCKNR12-39| 39 22 [ 32 135 ] 6

L2.5
® [(SCK4-A40-MCKNR12-46 | 46 25 | 40 [ 35 | 5 |CMS432|LCS-617 |CP50-22|MS625 130
SCK5-A50-MCKNR12-60 | 60 30 | 50 | 36 | 5 '
J]FR Insert : CNMG1204

®:FE(F InStock o FJFEEEE(FGEREZIAS &HA) Non-standard Stock

H26



7V sl s

jjn

= Modular Internal

N

Head With Coolant

MCLN

BN INTEA

MIH (0
B/ O | ww | T || —
Stock|  ZI5% Model No. mT&E F | D | L | S BB A% B | WB&R
" #h . wF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw
® (SCK1-A20-MCLNR12-25] 25 13 | 20 | 33 3 - LCS-511|CP50-12|MS520| L2.5
L2.5
® [SCK2-A25-MCLNR12-32 32 17 | 25 | 34 4.5 - LCS—511|CP50-22 | MS620 13.0
® (SCK3-A32-MCLNR12-40] 40 20 | 32 | 35 4 LCS-617|CP50-22 | MS620
® (SCK4-A40-MCLNR12-46| 46 25 | 40 | 35 CMS432|LCS-617 |CP50-22 |MS625| 1L.3.0
® | SCK5-A50-MCLNR12-60| 60 30 | b0 | 36 5 LCS-617|CP50-22 |MS625
JJFH Insert : CNMG1204
o JF1F InStock o FEFFAEEAF (FEMERY A ) Non-standard Stock

H27




s TG dul |
LY R N g Mo e

MDQN &
BAMI®A e
R S o)
y &/5 o
R
|]]|:[:|:ﬂ (T
/b 0> o] | #EPEH | T
Stock 198 Model No. MIAZE| F | D L S BB AR B | 184k
. R . wRF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw

SCK2-A25-MDQNR15-32 | 32 16 | 25 | 36 | 3.5 -

SCK3-A32-MDQNR15-39 | 39 22 132 39| 6

LCS-617|CP50-24 |MS625| L3.0
SCK4-A40-MDQNR15-48 | 48 27 | 40 | 42 | 7 |DMS442

® & o O

SCK5-A50-MDQNR15-58 | 58 32 1 50 | 45 | 7

7] Insert : DN1504
®:FE(F InStock o FJFEEEE(FGEREZIAS &HHA) Non-standard Stock

H28



1V RN

1R

Modular Internal
Head With Coolant

BT HRA

|]]|:[:|:ﬂ (T
B/ 0> o] | #EPEH | T
Stock 198 Model No. MIAZE| F | D L S BB AR B | 184k
. E-Yay . wRF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw
O |SCK2-A25-MDUNR15-32| 32 16 | 25 [ 36 |3.5 -
® | SCK3-A32-MDUNR15-39| 39 22 132139 ] 6
LCS-617|CP50-24 |MS625| L3.0
® | SCK4-A40-MDUNR15-48| 48 27 | 40 | 42 7 |DMS442
® | SCK5-A50-MDUNR15-60| 60 32 | 50 | 45 7
JJH Insert : DN1504
o JHfT o: AEREHE AT GEMERR A B IH)

H29




LY R4k s )9

MDZN B/ MIEA

|]]]:[:|:ﬂ (T
B/ ol | T | EEE | T
Stock 198 Model No. MIAZE| F | D L S BB AR B | 184k
. E-Yay . wRF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw

SCK3-A32-MDZNR15-39| 39 22 132 39| 6

SCK4-A40-MDZNR15-48 | 48 27 1 40 | 42 | 7 |DMS442|LCS-617 |CP50-24|MS625| L3.0

SCK5-A50-MDZNR15-59| 59 [32.5] 50 | 45 | 7.5

7] Insert : DN1504
@ EE{F In Stock  o:JEFEEEE{FGE Y AC & HA) Non-standard Stock

H30




1V RN

1R

Modular Internal

Head With Coolant

MSKN

BOMIBA

(T
B/ [0 | i | T |&EEE| —
Stock 7158 Model No. MIfZE| F | D L S LB AR B | 184k
" #h ) wF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw
® | SCK3-A32-MSKNR12-39( 39 22 132139 6
® | SCK4-A40-MSKNR12-48| 48 27 | 40 | 42 | 7 |GMS432|LCS-617|CP50-22|MS625| L3.0
® | SCK5-A50-MSKNR12-59| 59 [32.5] 50 | 45 | 7.5
JJR Insert : SN1204
®:FE(F InStock o FJFEEEE(FGEREZIAS &HHA) Non-standard Stock

H31




%o 15 dul |
LY R4 T g Moo el

=/ i T A

rm (o
B/l o | ) | EEE| T
Stock #U%E Model No. MIAZE| F | D L S BB AR B | 184k
" E-Yay . wRF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw
® | SCK3-A32-MTFNR16-39| 39 22 {1 32 1 35| 6 20
L2.
® | SCK4-A40-MTFNR16-48| 48 27 | 40 | 35 7 |TMS322| LCS-513 |CP50—-22 | MS625 130

® | SCKb—ALO-MTFNR16-57| 57 31 | 50 | 36 6
JJR Insert : TN1604
®:FE(F InStock o FJFEEEEFGEREZIAS &HHA) Non-standard Stock

H32



7V sl s

jjn

= Modular Internal

N

Head With Coolant

MTQN

B/ MIEA

— )RR B

/
\@w
& il

|]]]:[:|:ﬂ (T
B/ o | ) | emE| T
Stock|  #Y5E Model No. mT#& F | D | L | S 1R 44 B | 1BA&k
" E-Ya . wRF
A . Shim Clamp |Clamp
Shim Wrench
Screw Screw
L2.0
O | SCK1-A20-MTQNR16-25 25 131 20 [ 29 3 - LCS-510 [CP50-12 |MS520 Lo 5
L2.0
® [SCK2-A25-MTQNR16-29 29 [12.5] 256 29 |2.5 - LCS—510 |CP50-22 | MS625 130
O | SCK3-A32-MTQNR16-40| 40 |[22.5] 32 | 35 |6.5
L2.0
® [SCK4-A40-MTQNR16-48 48 27 | 40 | 35 7 |TMS322| LCS-513 |CP50-22 | MS625 130
® [ SCK5-A50-MTQNR16-5H7 57 31 [ 50 | 36 6 '
JJF Insert : TN1604
o /F1F InStock o FEIFAEEAF (FEMERY A ) Non-standard Stock

H33




LY R N g Mo e

MTUN
B/ T HA

m 11
B/ fe | 0 | EE|
Stock 71 %8 Model No. mIf| F D L S o B4k | BiR | B4 RE
A Shim Shim | Clamp |Clamp Wrench
Screw Screw
® | SCKI-A20-MTUNR16-25A 25 131 20 | 29 3 - LCS-510 | CP50-12 | MS520 |L2.0 L2.5
® | SCK2-A25-MTUNR16-32A | 32 17 1 25|30 |4.5] - |LCS510 MS620
® | SCK3-A32-MTUNR16-40A | 40 20 | 32 [ 34 | 4 5022 12.0
® | SCK4-A40-MTUNR16-47A | 47 26 | 40 | 35 | 6 |TMS322| LCS-513 MS625 | L3.0
® | SCK5—A50-MTUNR16-57A | 57 31 | 50 | 45 | 7

JJF Insert : TN1604
®:FE{F InStock o FJFEAEEIF(GEREZIAZ & HA) Non-standard Stock

H34




%o 15 dul |
LY R4 T g Moo el

S/h 0T A —— JI iR SR B
— )
w9
_L"’TJ
||||:[:|:ﬂ (T
B/l o | A1 | EEE| T
Stock 1% Model No. MIAZEl F | D L S HEAR B | 1BiR
" E-Yay ) wRF
A . Shim | Clamp |Clamp
Shim Wrench
Screw Screw
® |SCK3-A32-MTWNR16-37| 40 20 | 32 | 35 20
L2.
® | SCK4-A40-MTWNR16-45] 48 24 | 40 | 35 4 |TMS322|LCS—513| CP50-22 | MS625 130
® | SCK5-A50-MTWNR16-55| 57 29 | 50 | 36 .

JJR Insert : TN1604
@ EE{F In Stock  o:JEFEEEE{F(GE Y AC & HA) Non-standard Stock

H35




LY w4l s

2

MVQN

RNMTEA

—— )R B

|]][:[:|:ﬂ (T
B/ [O] | W | A ||
Stock| %58 Model No. MMTA F | D | L | S | & | B BiR | 184k
. . wF
A Shim | Shim | Clamp |Clamp
Wrench
Screw Screw
O | SCK2-A25-MVQNR16-32| 32 201 25 |1 35 |7.56 -
® | SCK3-A32-MVQNR16-40| 40 23 | 32 | 35 7 L2.0
LCS—-513|CP50-24|MS625
® (SCK4-A40-MVQNR16-48 | 48 27 |1 40 | 35 7 |GMV322 L3.0
® | SCK5—-A50-MVQNR16-59 | 59 33 | b0 | 35 8
JJF Insert : VN1604
o /F1F InStock o FEFFAEEAF (FEMERY A< ) Non-standard Stock

H36




7V sl s

= Modular Internal

jjn

5N Head With Coolant
/T BA Dﬁs"!ﬁ!ﬂn
— o)
w q’g @
L
1D (T
B/ [O] | e | O | "E|
Stock|  #Y58 Model No. MTA F | D | L | S | & | 1B BAR | 1BA&A
. . wF
A Shim | Shim Clamp |Clamp
Wrench
Screw Screw
® [SCK2-A25-MVUNR16-32 32 18 1 25 | 35 |5.5 -
® |SCK3-A32-MVUNR16-39| 39 23 32135 6 P2.0
LCS-513 |CP50-24 | MS625
® |SCK4-A40-MVUNR16-48| 48 27 | 40 | 35 | 7 |GMV322 P3.0
® | SCK5-A50-MVUNR16-59| 59 33 [ 50| 35| 8
JJF Insert : VN1604
®:FE{F InStock o FJFEAEEIF(GEREZIAZ & HA) Non-standard Stock

H37




AR T UANT S Wik Wi

MVXN

=T A

(I (T -—
B/ o) | wme | o | e
Stock|  ZY5% Model No. Tl F | D | L | S |#&F | B&% | BR | iB&% KF
A Shim | Shim | Clamp |Clamp|Wren
Screw Screw| ch
® | SCK3-A32-MVXNR16-40| 40 23 132 [ 35| 7
® |SCK4-A40-MVXNR16-42| 42 21 1 40 [ 35 | 1 |GMV322|LCS-513|CP50-24 |MS625 iig
® | SCK5-A50-MVXNR16-57 | 57 31 | 50 [ 35| 6

JJH Insert : VN1604

@17 InStock o FEFFAEEEAF (FEHE

EY A i

i X E

HH) Non-standard Stock

H38



AR VAT S

jjn

= Modular Internal

N

Head With Coolant

MWLN

|/ T EA

[m ([T
B/ > | O] | EEDEH| T
Stock #1582 Model No. MmMT4&E F | D | L S 1Bis | Bk | 1B&
. %2 ) .| ’RF
A . Shim | Clamp | Shim
Shim Wrench
Screw Screw
® | SCK1-A20-MWLNRO8-25 25 131 20 | 36 3 - LS5l CP50-12 [MS520| L2.5
® [ SCK2-A25-MWLNRO8-32| 32 17 [ 25 | 36 [4.5 -
® [ SCK3-A32-MWLNRO8-40| 40 20 | 32 | 39 4 L2.5
CP50-22 IMS625
® | SCK4-A40-MWLNRO8-47| 47 |25.5| 40 | 42 [ 5.5 [WMS432| LCS-617 L3.0
® | SCKb—ABO-MWLNRO8-57| 57 130.5] 50 | 45 | 5.5
JJH Insert : WNO8O4
@ FE{F In Stock  o:JEFEEEE{F(GE R AC & HA) Non-standard Stock

H39




